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Answer all ﬁve questlons
All questions carry equal marks

Two straight lines OA and OB are at right angles to each other. A point Q is 40 mm from
#OA~and 60 mm frorn OB. Draw a rectangular parabola from Q W1thm 10 mm d1stance
‘...from each lingi-, - £
A dircle of 40 mm dlameter rolls on'a horrzontal l1ne for a half revolutlon and then ol a"'»s
vertical line for another half revolution. Draw the curve traced out by a point Q on the
circumference of the circle. [6+9]
OR

Draw an epicycloid when the diameters of generating circle and directing circle are
+,40 mm and 120 mm. respectively. Draw a tangent and a normal to the -epicycloid,at any...

Draw.d dlagona seale of 1:3/ showmg cent1meters'and m1ll1me rs‘to measure
length of 30 cm. Show a distance of 19.5 cm.

3. A line PQ is 70 mm long and its end P is 20 mm above the H.P. and 30 mm in front of
the V.P while its other end Q is 40 mm above the H P. and 60 mm in front of the V.P.

...... {15]-="'""""'
T4 A regular hexagon of 20 mm has its .one of its sxdes in the horrzontal plane and makes a"ﬁ'
angle of 30° with the vertical plane. Draw the projections of the plane when its surface

makes an angle of 60° with the horizontal plane. [15]
5. A pentagonal pyramid, of base side 30 mm long and height 80 mm, has one of its

’,..-"-.,_ztr1angular faces per "“'nd1cular to, the hor1zontal plane """ nd 1ncl1ned at; 45 to the vertrcal'“--.

horlzontal plane ¢ e [15]
OR
6. A cone of 50 mm diameter and 70 mm long is resting on the ground on its base. It is cut
by a plane inclined at 30° to the horizontal plane and perpendicular to the vertical plane
and intersects the axis at 20 mm above the base. Draw its front view and sectional top

View- .....

7. ¢ A square pyram1daof base side’ 30 imn-and helght 70 mm- long i i§ restmg on the ground ‘on-
its base with the two opposite sides of the base parallel to the vertical plane Itis cut by a
plane which is perpendicular to the vertical plane and inclined at 60° to the horizontal
plane at a height of 40 mm above the ground. Draw the development of the lateral surface
of the bottom portion of the pyramid. [15]




8. | A mrcular hole of 25 mm dlameter is cut through a vertlcal cylmder of 80 mm dlameter
such that the axis of the hole is horizontal and parallel to the vertical plane and 8 mm
away from the axis of the cylinder. Draw the projections of the cylinder showing the

holes in it. [15]

bt £ i?‘igﬁre: 1/
OR
10. Draw the isometric view of the casting shown in the figure 2. All dimensions are in mm.,

[15]

Figure: 2
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